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A. Choose the best item to complete sentences or answer the questions.

a. Boring

by the conversation, he walked out into the garden.

b. Bored c. To bore d. Bore

2. Which of the following sentences is correct?

a. What old fashioned clothes does she wear!

b. What old fashioned clothes she wear!

c. What old fashioned clothes was she wearing!

d. What old fashioned clothes she wears!

3. His wife is very intelligent and charming, ......................... she cannot cook at all.

a. still

b. moreover c. therefore d. otherwise

4.  Which of the following sentences is correct?

a. These books belong to me, but those don’t belong.

b. These books belong to me, but those don’t.

c. These books don’t belong to me, but those belong.

d. These books don’t belong to me, but those does.

5. She...........ol. barely recovered from one stroke when she suffered another.
a. has b. was c. had d. has been
6. She .........oooiii. better if she didn’t use so much make up.
a. looks b. will look c. would look d. is looking
7. His wife is asking for divorce...................... her husband didn’t support her and her children.
a. on the ground that b. moreover

c. therefore

d. on condition that
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8.  Which of the following sentences is correct?

10.

11.

12.

13.

14.

15.

16.

17.

18.

a. Mr. Smith who has too many great expectations from his son may be disappointed.
b. A heavenly body, which revolves around the sun, is called a planet.
c. John’s father, who is very strict, believes that young people need a sense of discipline.

d. An air-conditioner, which has all the latest improvements, is quite expensive.

His lastletter ...........c..coooeinenne. he enclosed the check was lost.

a. on which b. for which c. by which d. in which

The gardener said that the bushes ........................ trimmed once a month.

a. should be b. must be c. had to be d. have to be
Iwishl. ..., in the rain yesterday.

a. hadn’t gone out b. didn’t gone out

c. weren’t d. haven’t gone out

The doctor has suggested that the patient ....................... a long vacation.

a. takes b. will take c. would take d. take

Adolf Hitler said that strength ....................... not in defense but in attack.

a. laid b. lay c. lain d. lays

The two women, .................... in their Sunday best, proceeded on to church.

a. dressing b. dressed c. were dressed d. had been dressed
Many people ................... in large cities are very lonely.

a. living b. lived c. were lived d. had been lived
He always has someone ................... his shirts to order.

a. makes b. made c. making d. make

Did youenjoy ..........cceevueennn. the White House?

a. visit b. to visit C. visiting d. being visited
.................... the bad news, she began to weep uncontrollably.

a. Have heard b. On hearing c. To hear d. Being heard
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19. In the following sentence the infinitive phrase functions as ........................ .

“Her husband wants her to clean the house every day.”

a. subject b. object of verb c. appositive d. adverb
20. Iwouldlike .................. your wife’s face when you gave her the diamond ring for her birthday.
a. to see b. to have seen c. seeing d. see
21. The couple decided .................... to that restaurant again.
a. not to go b. not going c. shouldn’t go d. going not
22. We noticed a woman ..................e..... of that building.
a. come out b. comes out c. to come d. came
23. She is too intelligent .................. by such a lie.
a. to deceive b. deceiving c. to be deceived d. to have deceived
24. Theirplot .............ceve. , the conspirators had to flee for their lives.
a. discovering b. being discovered c. having discovered d. to discover
25. All the restaurants ................... when they arrived, they had to go to bed hungry.
a. being closed b. to close c. closing d. have been closed

26. In the following sentence the function of the underlined partis .......................... .

“I can’t understand one thing, his rejection of that good offer.”

a. subject of verb b. object of verb
c. subjective complement d. appositive
27. His preference ................ccouee. his only daughter is very obvious.
a.to b. for c.on d. in

28. In the following sentence the underlined partis ....................... .

29

“Ten Main Street, the address on the envelope, proved to be incorrect.

a. predicate noun b. predicate adjective

c. adverbial expression d. participle phrase
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29. Mr. Smith is an intelligent teacher;................. , he 1s interested in his students.
a. Moreover b. however
c. otherwise d. still

30. The geometry books haven't arrived , and the algebra books haven't................ .

a. so b. too c. either d. neither
31. He spends his free time reading books and ................ Football.

a. plays b. played c. playing d. to play
32 she had done the right thing, she could not be convinced that she was wrong.

a. Believed b. Believes c. Believe d. Believing
RN L hot day that I must go to the beach.

a.such a b. much c. very d. too
34. They decided to climb higher,................. they could get a better view.

a. whereas b. so that c.asif d. in spite of
35. They failed to meet the deadline ................. they had worked day and night.

a. although b. while c. thus d. despite
36. If I happen to see him, I ............. invite him to our wedding ceremony.

a. would have b. had to c. will d. would
37. 1f the weather ................. good yesterday, I would have gone to the beach.

a. have been b. were

C. was d. had been
38. The year 2012 is the year ............. the games will be held.

a. when b. where c. which d. while
39. The firm ........... I work for has decided to hire new workers.

a. where b. which c. who d. what
40. We were worried ............. John would be able to pass the driving test.

a. so that b. though c. whether d. what
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B. Use the correct form of the given word(s) to complete the following sentences.

1. He is the only one of the students wWho ...................coooiii (fail, present perfect) the final
examination.

2. After their quarrel, they stopped ...........ccooeeiiiiiii. (talk, each other).

3. The houseisunfit ...................... (anyone, live in).

C. Use appropriate words from the list below to correctly fill the blanks.

since , not to , otherwise , for , after , whom, to , although , before , unless, who

4. We must all eat the proper food; ......................... we’ll get sick.

S I felt very tired, I tried to finish the work.

6. it stops raining soon, they’ll have to cancel the ball game.
7. We were wondering about ..................o.elll we should invite to the party.
B shopping all day, she was glad to get home and rest.

9. You can go there if you would like .................... .

10, o her husband’s death, she has been very moody and depressed.
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D. Combine each of two sentences appropriately.
1. His car was much too small. This is why he decided to sell it.

2. He picked up the toy. His son was playing with the toy.

3. The city is rich in historical associations. Henry James preferred to live there.

4. Ttook a taxi. I was very late for work. (Use participle phrase.)

5. He looked at me suspiciously. I couldn’t understand this. (Replace this with a gerund phrase.)
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